Notice to Bidder: Use Black Ink or Type For Completing the Form.

BID

To:

The City of Key West

Address:

3126 Flagler Avenue, Key West, Florida 33040

Project Title:

201 WILLIAM ST. CONCRETE REPAIR AND WINDOW REPLACEMENT

Project:

ITB #12-009

BIDDER'S INFORMATION

Name:

D.L. PORTER CONSTRUCTORS, INC.

Address:

6574 Palmer Park Circle

Sarasota, FL 34238

Contact Name:

C. Marshall White

Email:

mwhite@dlporter.com

Telephone:

941-929-9400

Fax:

941-929-9500

Signature:

Date

1/25/12

BIDDER'S DECLARATION AND UNDERSTANDING

The undersigned, hereinafter called the Bidder, declares that the only persons or parties interested in this Bid are those named herein, that this Bid is, in all respects, fair and without fraud, that it is made without collusion with any official of the Owner, and that the Bid is made without any connection or collusion with any person submitting another Bid on this Contract.

The Bidder further declares that he/she has carefully examined the Contract Documents for the construction of the project, that he/she has personally inspected the site, that he/she has satisfied himself/herself as to the quantities involved, including materials and equipment, and conditions of work involved, including the fact that the description of the quantities of work and materials, as included herein, is brief and is intended only to indicate the general nature of the work and to identify the said quantities with the detailed requirements of the Contract Documents, and that

this Bid is made according to the provisions and under the terms of the Contract Documents, which Documents are hereby made a part of this Bid.

The Bidder further agrees that he/she has exercised his/her own judgment regarding the interpretation of job conditions and has utilized all data, which he/she believes pertinent from the Project Manager, Owner, and other sources in arriving at his/her conclusions.

The intent of the Bid Documents is to describe a functionally complete project (or part thereof) to be constructed in accordance with the Contract Documents. Any work, materials, or equipment that may reasonably be inferred from the Contract Documents, as being required to produce the intended result shall be supplied whether or not specifically called for.

CONTRACT EXECUTION AND BONDS

The Bidder agrees that if this BID is accepted, he/she will, within ten (10) calendar days after Notice of Award, sign the Contract in the form annexed hereto, will attach all required licenses and certificates, and will, to the extent of his BID, furnish all equipment, materials, and labor necessary to complete all work as specified or indicated in the Contract Documents. Performance and Payment Bonds in an amount equal to 100% of contract value will be required as part of this contract.

CERTIFICATES OF INSURANCE

Bidder agrees to furnish the Owner, before commencing the work under this Contract, the certificates of insurance as specified in these Documents.

START OF CONSTRUCTION AND CONTRACT COMPLETION TIME

The Bidder further agrees to begin work within twenty (30) calendar days after the date of the Notice to Proceed and to complete the construction of all items in the lump sum base Bid, in all respects, for this particular project, within one hundred twenty (120) calendar days after the date of the Notice to Proceed.

LIQUIDATED DAMAGES

In the event the Bidder is awarded the Contract and shall fail to complete the work within the time limit or extended time limit agreed upon as more particularly set forth in the Contract Documents, liquidated damages shall be paid to the Owner at the rate of five hundred dollars (\$500.00) per day for all work awarded under this contract until the work has been satisfactorily completed as provided by the Contract Documents. Sundays and legal holidays shall be included in determining days in default.

ADDENDA

The Bidder hereby acknowledges that he has received Addenda No's. 1 , 2 , 3 , 4 , Bidder shall insert No. of each Addendum received) and agrees that all addenda issued are hereby made part of the Contract Documents, and the Bidder further agrees that his Bid(s) includes all impacts resulting from said addenda.

SALES AND USE TAXES

The Bidder agrees that all federal, state, and local sales and use taxes are included in the stated Bid prices for the work.

PUBLIC ENTITY CRIMES

"A person or affiliate who has been placed on the convicted vendor list following a conviction for a public entity crime may not submit a Bid on a contract to provide any goods or services to a public entity, may not submit a Bid on a contract with a public entity for the construction or repair of a public building or public work, may not submit Bids on leases of real property to a public entity, may not be awarded or perform work as a contractor, supplier, subcontractor, or consultant under a contract with any public entity and may not transact business with any public entity in excess of the threshold amount provided in Section 287.017, for CATEGORY TWO for a period of 36 months from the date of being placed on the convicted vendor list."

LUMP SUM BASE BID

The Bidder agrees to accept as full payment for performance of the work as herein specified and shown on the Drawings (if any), the following lump sum. The Bidder agrees that the lump sum price represents a true measure of the design, labor, materials, and equipment required to perform the work, including all allowances for overhead and profit for each type and unit of work called for in these Contract Documents. The amounts shall be shown in both words and figures. In case of a discrepancy, the amount shown in words shall govern. The Bid will be awarded on total Bid amount. Final lump sum payments will be adjusted based on actual units and unit prices.

BID FORM

ITB #12-009: 201 WILLIAM ST. CONCRETE REPAIR AND WINDOW REPLACEMENT

LUMP SUM BID PRICE \$ 487,182.00

Bid Total in Words

Four Hundred Eighty -Seven Thousand One Hundred Eighty-Two

and 00/100 Dollars

BID BREAKDOWN

The Bidder shall provide a schedule of values for all aspects of the project including mobilization/demobilization, labor and materials, permitting, etc. required or to be used for the project. The schedule of values shall be in sufficient detail to allow the owner to understand how the Bidder arrived at said Bid price and shall become part of the contract for basis of payment. The City may ask for a more detailed schedule of values if one submitted is not sufficient.

The Schedule of Values (unit prices) shall include at a minimum of the following:

BASE BID

Item #	Description .	Qty	Units	Unit Price	Total*
1	Slab and Stair Spall/Delamination	12	Cubic Ft.	276.00	\$3,312.00
2	Beam, Lintel and Sill Spall/Delamination	165	Cubic Ft.	380.00	\$62,700.00
3	Column Spall/Delamination	348	Cubic Ft.	391.00	\$136,068.00
4	CMU infill	20	Sq. Ft.	60.00	\$1,200.00
5	Scaffolding	20	Per Day	23.00	\$460.00
6	Shoring	10	Per Day	115.00	\$1,150.00

TOTAL 525 cu. ft. spalling or delamination					\$ 204,890.0
-					
7	Reinforcement	5	Cubic Ft.	276.00	\$1,380.00
8	Beam, Lintel and Sill Spall Delamination without Reinforcement	10	Cubic Ft.	380.00	\$3,800.00
9	Column Spall/Delamination without Reinforcement	30	Cubic Ft.	362.00	\$10,860.00
10	Replace Column/Beam with steel reinforcement to equal minimum 1% gross area	5	Cubic Yd.	5,980.0	\$29,900.00
11	Shoring for column/beam replacement concrete cure	28	Days times 2 Locations	115.00	\$3,220.00
	TOTAL Repairs with	out Reinfo	orcement		\$ 49,160.00
			<u> </u>		
11	Replace Column/Beam with steel reinforcement to equal minimum 1% gross area	5	Cubic Yd,		Duplicate
	steel reinforcement to equal	5 1,160		31.05	Duplicate \$36,018.00
111	steel reinforcement to equal minimum 1% gross area Epoxy injection crack repair	1,160	Yd. Linear Ft.	31.05	
	steel reinforcement to equal minimum 1% gross area Epoxy injection crack repair (assume 1/16" crack 4" deep)	1,160	Yd. Linear Ft.	31.05	\$36,018.00
12	steel reinforcement to equal minimum 1% gross area Epoxy injection crack repair (assume 1/16" crack 4" deep)	1,160	Yd. Linear Ft.	31.05	\$36,018.00
	steel reinforcement to equal minimum 1% gross area Epoxy injection crack repair (assume 1/16" crack 4" deep) TOTAL 1,160 ln. for	1,160	Yd. Linear Ft.		\$36,018.00 \$ <u>36,018.00</u>

TOTAL BASE BID					\$487,182.00
	TOTAL				\$140,487.00
22	Contingency	1	Total	\$30,000	\$30,000
21	General Conditions	1	Total	93,237.	\$93,237.00
20	Mobilization	1	Total	17,250.	\$17,250.00
		oors and	Wildows		\$ 30,027.00
TOTAL remove/install doors and windows					\$56,627.00
19	Drip Edge	All	Total	4,830.	\$4,830.00
18	Remove/Install Door 3	2	Each	3,450.	\$6,900.00
17	Remove/Install Door 2	2	Each	3,450.	\$6,900.00
16	Remove/Install Door 1	1	Each	3,663.	\$3,663.00

^{*}FINAL PAYMENT WILL BE BASED ON ACTUAL QUANTITIES MEASURED IN THE FIELD AND APPROVED BY CITY STAFF

SUBCONTRACTORS

The Bidder further proposes that the following subcontracting firms or businesses will be awarded subcontracts for the following portions of the work in the event that the Bidder is awarded the Contract:

Portion of Work: Concrete				
Name: Schnell Contractors				
Address: 1343 Tile Factory Lane, Louisville, KY 40213				
Portion of Work: Windows & Doors				
Name: D.L. Porter Constructors, Inc.				
Address: 302 Southard St., Suite 209, Key West, FL 33040				
Portion of Work:				
Name:				
Address:				
BIDDER				
The name of the Bidder submitting this Bid is:D.L. PORTER CONSTRUCTORS, INC.				
Doing business at 6574 Palmer Park Circle				
City Sarasota State FL Zip 34238				
Telephone No. 941-929-9400				
This address is where all communications concerning this Bid shall be sent.				

The names of the principal officers of the Corporation submitting this Bid, or of the Partnership, or of all persons interested in this Bid as Principals are as follows:

Name	Title			
Gary A. Loer	President			
C. Marshall White	Vice President			
Paulette Jewell	Secretary			
If Corporation				
IN WITNESS WHEREOF the undersigned co and its seal affixed by its duly authorized office	orporation has caused this instrument to be executed cers this 25th day of January , 20112			
(SEAL)				
Name of Corporation: D.L. PORTER C	ONSTRUCTORS, INC.			
Authorizing Signature: C. Marshall W	hite			
Title: <u>Vice Rresident</u>	· · · · · · · · · · · · · · · · · · ·			
Attest: / duelle Muull Paulette Jewell				
Secretary				
If Sole Proprietor or Partnership				
IN WITNESS hereto the undersigned has set 2011.	his/her/its hand thisday of			
Signature of Bidder				
Title	,, 			